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PART - A (10 x2=20 Marks)
Answer ALL Questions

1. Define degree ofredundancy.
2' Chssiff statically redundant structures.

3' What are the assumptions made in slope-deflection method?

4' Explain the use of slope deflection method.

5' Explain the relative stif'firess factor'
6' Explain carry over factor with a sketch.

7 ' What is a primary structure in matrix flexibility method?

8. Write the element flexibility matrix for a beam.$ember.

9. Give the methods of matrix analysis.

10. Suggest a primary structure for the following beam

11. a)

Max. Marks: 100

PART-B(5x13=65Marks)
Answer ALL Questions

Solve using Strain energy Method and Draw the SF and BM diagram' t3'K3'Cot
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OR

Kl - Remember; K2 - Underctand; K3 - Apply; K4 - Anafi'ze; K5 - Evaluate; K6 - Create
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b) Solve using strain energy method t 3,K3,CO1

12. a) Analyze the continuous beam ABC shown in figure by slope deflection t3'Ks,co2

method. Draw also the bending moment diagram. Take EI = constant.
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b) Solve using Slope Deflection Method and Draw the BM diagram. 1i,K3,CO2
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13. a) Analyse the beam shown in figure by moment distribution method and

draw the SFD and BMD. Take EI = constant.
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b) Anatryse the portal frame shown in figure by moment distribution

method.

Kl - Remember; K2 - Understand; K3 - Apply; K4 - Analyze; K5 - Evaluate; K6 - create
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14. a) Analyse the continuous beam ABCD shown
deflection method. The support B sinks by
2xl0sN/mm2and I = l6xl0imma.

in figure by
lOmm. Take
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slope l3'K3'CO4
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OR

b) Analyse the continuous beam ABCD shown in figure by slope t3'K3'co4

defleetion method. The support B sinks by 15mm. Take E :
200x105kNl/m2and I : 1 20x10-6ma
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15. a) Analyse using Matrix flexibility method.
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Kl - Remember; K2 - Understund; K3 - Apply; K4 - Analyze; K5 - Evaluate; K6 - Create
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b) Analyse using Matrix flexibility method.

PART-C(1 x15=15Marks)

Analyse using Matrix stiffness method.
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Analyse using Matrix stiffness method.
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Kl - Remember; K2 * tJnderstand; K3 * Apply; K4 - Analyze; K5 - Evaluate; K6 - Create
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